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{1, 2, 3, 4}$

1234 1243 1324 1342 1423 1432

2134 2143 2314 2341 2413 2431

3124 3142 3214 3241 3412 3421

4123 4132 4213 4231 4312 4321
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|A ∪ B| = |A| + |B| − |A ∩ B|.
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|A ∪ B ∪ C| = |A| + |B| + |C| − |A ∩ B|
− |A∩C| − |B∩C| + |A∩B∩C|
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|Ai ∩ Aj|
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∑
|Ai ∩ Aj ∩ Ak| − . . .

+ (−1)n−1|A1 ∩ A2 ∩ . . . ∩ An|.
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|A ∩ B ∩ C| = 30 − (14 + 13 + 12)
+ (7 + 4 + 5) − 3 = 4.
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n Dn n!
Dn
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2 1 2 0.5

3 2 6 0.333333 . . .

4 9 24 0.375

5 44 120 0.366666 . . .

6 265 720 0.368055 . . .

7 1854 5040 0.367857 . . .

8 14 833 40 320 0.367881 . . .

9 133 496 362 880 0.367879 . . .

10 1 334 961 3 628 800 0.367879 . . .
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